ST-P024 ST-224 Tripod V2.0_20220608

— N — i an N e 1 ke " - 1. INRFE (ETIATR) |
SI;{UI ] 1}\1/\#131] 2 :Eﬂ]*g%)\%glﬂ—p 3 :.Hﬂ*ﬂi[] E{Eﬁ—ﬁ 4 1$—ﬁ$)§ﬂ£ﬂ%?5@ﬁiﬁﬂé%ﬁ 2 Eﬂiuggm’ﬁzﬁpﬁg , ﬁj\ﬁ”é@%zzﬂ 550\ 850 : :{%h—\z%ﬂ

REIBaEfE  BRIEREIL70° , 1= BalEUSiERS
B WZETEEWE (WEFR) .

3. ZHIZRMEMYE  RERS A RSO BISR e
$He1/28 , ARBHERHEREENKE  BiRERS
@, SRMKREVNIRFT E SR NEE, WHERTIATF IR
TESHRAR N INEIARIITFRE ((WNE3ER ) .

4, (BRI SEREERAER (MNE4FR)

5. SPEAUEAFOIRE (2NES-1R15-2P )

6. i ET S (AIE6FTR )

7. BIERFAX/INRL3/851/4 (WNETFR )

8. HIEMZERE ( ME8F7R )

J— , T » 9. BRI ( EIRTR ) m
q )

TR0 BT

{5 A i BA

ST-224 = pZe

. = RGOSR FREWE , MEFTE Frmeasa @) gt il () EHEME  DANEHFBORE. WESSERRAER W SRR | A e @) 45 smEREemNsT O , BB
FRESHERBERAT T BIEHOM IR 1 () BEHELAIET o el E M HIREN BB SRS | IR i ;ﬁ%gﬁg Qﬁgm@f‘;@iﬁé iy ©ﬁ§)§mgé@gm$ﬁﬁpﬂ,$ﬁﬁﬁj}§
SAREE TR = T : IR AR T Shas FHRERE, e e
15 070, seRoTys JEH. 0760-80207062 RS 1hK: 400 530 2200 &1 TR RIS ro7sTaE— T () MEE , () EEATRIAE RIHE, ) B R R R () AR 2B
mﬂrzgg: ipig@sirui—photo.com ik www.sirui.com
(RIREIFE 8.15-12115.14:00-16:00)
el %g 0 15T BRI 5.2 AR 6. EhRY _E T R 4s 7 RIS AR L3 3/8" 5 1/4 " iR 22 8. BIEMERIE 9. M iRz L
[ |
] :
_ L :
b —_
o |
ol | (O
EE | = s
=3 ! R © AATFERISIE | SR =A R - SFEFRIN:
| =SS , PHESIEN , SRR = =N
¥ o | BEH | BT R A p— f %*ﬁﬁg%ﬁiﬁ@?f * FEBIRANHEAE BEE 5= RiREH);
=< BES | E " A\ HERE RN, SRS RE,
| o N == =
£ g | } bR P EERI M EA b fgebiiER i ., DEREETE FAGERERAT 100 REER,
'< ge ¥ | (RS 2% i i : SR DU, A RIS T ERE, BT @
ke ! C o y 5 FFREE, RN BKAEA;
-{ g g 1 - ‘%*"%%*’%Eﬁﬂ & g DI A B B AR AP TR K G R R A,
& 3 3% o (AR PR ERE RN R
H s s S
@ | ( EARMSFEAN, B ARKT, 1778 F
# o ! Q&SI BEMARTE;
o ; SRR - Y miyrriEiestIerh 130 () 28 L
@ s | — el I essett e WA N BUEERSET, $i18 & (FIAIAEH) MEIR LTS,
#® = ! 2 (RISHEMERE TERE | ISIRAIRAEBAILA (IRLABRIEFE £ BB SR R RRENES, BRI M
£ & ; ] ARFL ) HATERROIGR , HENRAHER RRTALN |, BTk, B S R S 2 S B
Py Bo- ‘ U809 : HATFERMIEGE | FcPARI RS RERONIE | RS L RME USRI R E T IRREE | i
‘ EEARMBRIBAER R , ERAEEARIRRE , FRS A . e, " , e = 72 T e R 9 5 .
2K ! it ey SR N SRR AR, SRAATLL BB EENABIRE ©) B2 ©) A PSR E, g & T HE AR IR, N5
= N | LT ; BERIESSERIRET HiEE. ERRENEEENNE } . . FEN, EERNERR HTURE,;
§ : Biterzzsizsl, (M) F3/8F , (N) 791/45F . .
I b : &9 ; NEERLER, YINE - REMEREIR,
| &)5.1 %15.2 %16 7 8




ST-P024 ST-224 Tripod V2.0_20220608

P N
A A 4

SIRUI

1. Know the Tripod (Fig. 1)

1. Know the Tripod 2. Leg Setup 3. Leg Extension/Retraction 4. Interchangeable Rubber 2. Three-angle adjustable: 22° /52° /82° . Pull out the leg

Feet & Spikes angle adjustment button and the button will return in
position when pulling up the leg approximately to 70° .
The legs can be folded down for a compact fit. (Fig. 2)

3. Twist the leg locks (from the smalllest to the largest) for
a half turn to extend or retract the legs. Lock the leg
sections by twisting the locks (from the largest to the
smallest) in the opposite direction. (as Fig. 3 shown).

4. Interchangeable rubber feet and spikes (Fig. 4)

5. Insert/Remove the column (Fig. 5-1 to Fig. 5-2)

SIRUI, Capturing Your Imagination!

INSTRUCTIONS

ST-224 Tripod

3/8" -1/4" Mounting Screw
Unlock Button

Mounting Platform
<>

S

Bubble Level

Accessory Port 4 — Spider

Semi-Automatic Leg
Angle Adjustment Button

—— Support Legs 6. Column Ascent/Descent (Fig. 6)
Center Column i * Loosen 7. Convertible 3/8"-16 and 1/4"-20 Screw (Fig. 7)
- g 8. Leg tension adjustment (Fig. 8)
. ighten Extend and Retract .
Twist Leg Locks g \ 9. Accessory ports (Fig. 9)
4, d
o—— |
e Rubber Foot . . o o ° >
The legs are folded when  Hold the tripod and pull out Pull up the leg until the Button A Pull the leg up to 22°/ 55°/ 85° after the
=] taking out from the box. i irecti automatically gets back in position. ~ Button A went back in position. Or directl
= 9 the Button A in the direction y9 P I hel h dp red le. th y Pull up the leg to 22°. Turn the leg lock to the left for 45° to Retract the rubber foot to reveal the
GUANGDONG SIRUI OPTICAL CO.,LTD. S Retractable Spike of the arrow. pull up the leg to the desired angle, then extend or retract the leg. Turn the leg metal spike.
Add: The Third Industrial District, Wuguishan Town, Zhongshan City, press the upper part of the Button A to lock . .
Guangdong, China (Zip Code: 528458) . Fl 2 . . F| 3 lock to the rlght to lock the |eg section F| 4
Tel: 86-760-88897373 Fax: 86-760-88207062 F|g,] g. the leg in position g. . g.
E-mail: info@sirui-photo.com Website: www.sirui.com : n place.
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, J
|
|
|
1| oS 3 | 5.1 Insert the Column 5.2 Remove the Column 6.Column Ascent/Descent 7. Convertible 3/8"-16 and 1/4"-20 Screw 8. Leg Tension Adjustment 9. Accessory Ports Attention: A _
g g, ? 35 ! ﬁ Do not exceed the recommended maximum load weight (please refer to
| wx  the manual).
e !
"! §§ g : Please make sure that the locks are securely tightened when in use.For
T } ) . . A added safety, please put your wrist through the wrist strap when using the
3.85 I - d-Take out the column ?bioke out the screw % &c.lnvert the screw and put it back in position monopod.
H=1%¢ | = = ®
SZE] ! I Instruction: Loosen the column locking knob. g This product should not be used in environments that exceed the
58 g | }gii{;thfnginfgrlgiutnﬁg 'cl'r?tiie?oﬁﬁii"i'# Place g N G nsert Ine screw following conditions (-40 ~ +100°C/-40 ~ +212°F). And, when used in
29 g I 9 place. - tuhe” ,e‘;m:tﬁe ' +4 damp, dirty or dusty environments, please clean and dry thoroughly after
i 3 | b. Pull up the ey o * AN .
2 B I center column e uton. _ ¥ use, to assure proper functioning in the future. It is not recommended to
e ! until it hits the limit g_ expose this product to saltwater. If exposed, please clean with mild soap
?3%% s | ‘ b.Insert the center column. 3 and warm water and towel dy.
é §§§§ i C.Tighten the column locking 9:,_ N Please keep from high temperatures and direct exposure to bright
%n ! Krob o lock the tanter é. /1~ sunlight for extended periods of time.
| g column in place. ~ . . " )
£8 o I p H t Please do not leave the equipment alone in a public place, which can be
< 4] : ! , Loosen Sg;lllgiiiand hold the o3 ) an inconvenience or hazard to others.
g § ! \DTighten Fig.A
S5 o | ‘ aLoosen the column R N . \/'}'\ To protect your camera gear, please remove it from the tripod/ball head
® of & ‘ locking knob. 3/8"-16 and 1/4"-20 Screw Conversion: when transporting from place to place.
SE 3 ! .
E E i ‘ — e col o ekine ko, Pull un th 1. Press thhe unlock buc:ton to LakekOUt the SCI’EV\;.] (Flg"?) N s Please use a soft towel with warm water and mild soap to clean the
) nstruction: Loosen the column locking knob. Pull up the 2. Invert the screw and put it back in position, then release the . . . locking system and gliding parts when necessary. Towel dry before
Sy i centlffrb?ohlim?1 until it hits tl’l"ue limit. PullI back and hold the unlock button P P Twist the screw G with the included Allen key M: 3/8"-16 Accessory Port storingthgmonopod gidng " v
+ g§ 2 sma ock, then remove the center column. . . . " '
S @ EE ! F to adjust the tension of the leg. N: 1/4"-20 Accessory Port - . . .
2 E’E PN | Under most situations, there is no need to lubricate any parts of this
= I ' _ product. The addition of most lubricants will gum up the mechanisms and
% \ e | Loosen the column locking knob. Adjust the center column to the i reduce their normal gliding characteristics. Please call or email us if you
= g ~ : desired height. Tighten the column locking knob to lock the center have any questions or special needs.
O > | columnin place.
(| ! H i i i i Please keep this product away from all electrical power sources.
| Fig.5.2 Fig.6 Fig.7 Fig.8 Fig.9 % p this p y p
|




